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Data Sufficiency
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Note: Tlus question 15 followed by data m the form of two statements labeled as 1
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
{4) as per the following gudelines:

(a)  Mark choiwce (1) 1f the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(e) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d) Maik choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is requured.
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Data Sufficiency
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Mote: Thus question 15 followed by data i the form of two statements labeled as 1
and II. Y ou must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
{4) as per the following gwidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mlark chowce (2)af the statement IT alone 15 sufhicient to answer the question.

{c)  Mark choice (3) if both the statements [ and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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Drata Sulficiency
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Note: This question 15 followed by data in the form of two statements labeled as |
and 1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
{4) as per the following gmdelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.
(by  Mark choice (2) 1if the statement 1T alone 1s sufficient to answer the queshon.
(¢} Mark choice (3) 1f both the statements 1 and 1T are sufficient to answer the

question but neither statement alone is suflicient.
{d)  Mark choice (4) if both the statements | and II together are not sufficient to
answer the question and additional data 1s required,
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Data Sufficiency
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Note: This question 1s follewed by data i the form of two statements labeled as 1
and II. You must decide whether the data given mn the statements are suthicient
to answer the questions. Usmeg the data make an appropnate choice from (1) to
{4) as per the following snidelines:

(a)  Mark choice (1) of the statement T alone 15 sufficient to answer the question.

(b Mark choice (2) af the statement IT alone 15 sufficient to answer the question.

(¢)  Mark choice (2) if both the statements T and IT are sufficient to answer the
question but neither statement alone 15 sufficient.

(d)y  Mark choice (4) if both the statements T and IT together are not sufficient to
answer the question and additional data is required.
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Drata Sufficiency
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Note: This question 1s followed by data m the form of two statements labeled as 1
and IT. You must decade whether the data mven mn the statements are sufhcient
1o answer the questions, Using the data make an approprate cheice from (1) 1o
(4) as per the followmg gmdelhnes:
(a)  Mark choice (1) if the statement T alone 1s sufficient 1o answer the question.
{b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.
ic) Mark choice (3) if both the statements I and I are sufficient to answer the
question but neither statement alone 1s sufficient.
(d)  Mark choice (4) 1f both the statements T and IT together are not sufficient 1o
answer the question and additional data 15 required.
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Data Sufficiency

QErod DTRo

Note: This question 1s followed by data in the form of two statements labeled as |

(a)
()
i)

(el

and I1. You mmst decide whether the data given in the statements are sufficient
to auswer the questions. Using the data make an appropnate choice from (1) 1o

(4} as per the following guidelines:

Mark choice (1) if the statement 1 alone 1s sufficient fto answer the question.
Maik choice (2) if the starement IT alone 15 sufficient to answer the question.
Mark choice (3) 1f both the statements T and IT are sufficient to answer the
question but neither statement alone 15 sufficient.

Mark choice (4) if both the statements T and IT together are not sufficient to

answer the question and additional data is required.
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Data Sufficiency

GErRN DT
Note: This question 1s followed by data in the form of two statements labeled as |
and I1. You mmst decide whether the data given in the statements are sufficient
to auswer the questions. Using the data make an appropnate choice from (1) 1o
(4} as per the following guidelines:
(a)  Mark choice (1) if the statement | alone is sufficient to answer the question.
(k)  Mark choice (2) if the statement TT alone 15 sufficient to answer the question.
(€}  Mark choice {(3) 1f both the statements T and IT are sufficient to answer the
question but neither statement alone 15 sufficient.
(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and addinonal data 15 requured.
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Data Sulficiency

SToF LD
MNote: Thes guestion 15 followed By data w the Tonn of two statements labelad as [
amd 11, Yo st decide whether the data given m the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
{4) as per the following guidelines:
a)  Mark choice (1) 1f the statement [ alone is sufficient to answer the question.
i) Mark chowce (2) af the statesnent [T alone 15 sufficient fo answer the question.
ic) Mark choice (3] if both the statements [ and [I are sufficient to answer the
questien but neither statement alone 15 sufficient
idy  Mark choice (4} if both the statements [ and IT together are not sufficient 1o
answer the guestion and additional data 15 required.
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Data Sufficiency
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Mot

tal
(h)
i)

(d)

This question 15 followed by dara in the fonn of rwo statements labeled as T
andd IT, You muest decide whether the data given in the statetnens are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement T alone is sufficient to answer the question,
Mark choace (2) of the statement 1T alone 15 sufhicient to answer the question.
Mark choice (3) if both the statements | and Il are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) 1f both the statements I and II together are not sufficient to

answer the question and addatronal data as requared.

Arched: 156 (D18 28 139). 72 1§od L I ead Hithey fe) Dok

Waviiren  OFodor  afaFon. IS OFoTR)
ETIFROD, @ LA ThiTren |58 50 DuaFirara)) mo jocos
SHOrare) eNECr B e i IT00Td, & ATEH5

B8 Sr0eid ;B AMEen SadiPRoC (1) od (4) HH5 HO
SO0 BT 20 DomE Saliod,

(@) 23150 aTTTS0 @3 H0CED 1950550 1T |e8eh DT ipshcn e
2 Ay (1) ghislelinlele Y

(b) 15743 50 fdrerado ST 05 (Haido TT &ar(#5h Dot e on
b 2aran (2) 17 000,

(c) (639350 AP0 20 )05 wadiren L I SO0 a0 ia1aincn
ot o 258 Sror Howdo TEE G 2aren () ™
MSodiod,

() 13343 50 AP0 D0 S Daoaren I I 0l Sy Sorao
58 iy SEPOE0 & SGMNoNE b Baran (4) oo,

Whar ts the amecumt apvested by A in partpership finn i whick B and © are

MBS

D C o i s dusa O a6 Jiaris Ao’ A Dioec. ded?

The iosestment of A is Bz 50000 more chan thar of B.

Fi soes A owead ar. S00O0 ...‘.'ll:ll_,r;:_

i The dowvestmcnt of O is B TODHr Less than that of A

A ol O sotoomd dor. 10000 sy S,

TS ICET 2018



TS ICET 2018
Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 11 Question Id : 9126063283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Data Sufficiency

Sgrod Do

Note: This guestion 15 followed by data m the [omm of two statements labeled as |
and I You nmnst decide whether the data given in the statements are sufficient
to answer the questions, Using the data make an appropriate choice from (1) to
(4) as per the following giadelines:

{a) Mark choice (1) if the statement | alone 1z sufficient to answer the question.
(b Mark chowce (2) il the statement IT alone 15 suflicient to answer the guestion.
{c)  Mark choice (3) if both the statemuents T and II are sufficient to answer the

question but neither statement alone 15 sufficient.
{d)  Mark cheace (4) 1f both the statements I and I together are not sufficient to

answer the question and additional data 1s required.
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Data Sufficiency

dgro® Dorfha

Note: This question is followed by data in the form of two statements labeled as 1
and II. You must decide whether the data given in the statements are sufficient
to answer the questons, Using the data make an appropniate choice from (1) 1o
(4} as per the following puidelines:
{a)  Mark choice (1) if the statement I alone is sufficient to answer the question.
(b}  Mark choice (2} if the statement II alone 15 sufficient to answer the question.
{c} Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 15 sufficient.
{d}  Mark choice (4) if both the statements I and II together are not sufficient 1o
answer the question and additional data 1s required.

Aded: 1298 |96 2.8 194), o0 204 L T el ichen fe Dok
|Beitierrey OFoFomT Qe iTon. S OFOT),
TN, WM (MaITiore (2350 AT 00005
DOEre) egErair Bor el ot Ao, & AFdaS

Bod APQSGE ar@Een SHATNoD (1) od (1) S0% Hb
0 BaTFNa Qomd obod,

(a) 14) 50 SArerad0 23 105080 (DHSGS0 T drash Hovasond
20 232720 (1) i (hdodod.

(b) |53 50 ASPTA0 B3 )0 E [DAAS0 AT ST a0 s
o) 24720 (2) I loo0d.

(o) (3150 AaTLTo0 F 00050 [Patiaren L I 300 0o
@mochd o a8 Sror Sovao SEaFE ab daen (3) T
ghielalnTele}

(d) (299 50 AAPFGH0 23 0 HauRren LI 60 $rE H0a0
8 endicdad OF 040 @dddaNans b Baran (4) ™ Hhlodod.

What percent of 200 = x?

S ¥ Ooo FeaaT

150% ofx 1= less than 15.

175 Sodd x & 150% ey .

x1s 109 of 45,

% & Darde 45 40 10%,
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Data Sulficiency

Seros oo
Note: This question 1s followed by data in the form of two statements labeled as |
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1} to
(4} as per the following guidelines:
{a)  Mark choice (1) if the statement I alone 15 sullicient o answer the ques o
(b} Mark choice (2) if the statement II alone 15 sufficient to answer the question.
{c) Mark choice (3) if both the statements I and 11 are sufficient to answer the
question but neither statement alone is sufficient.
id) Mark chowce (4) 1if both the statements I and II together are not sufhicient to
answer the question and additvonal data is requared.

DPSS: (e D95 2.8 1), TP 1804 L 1T e id)en i Dok
|Hetinrey OFoForT  @wfhFon.  @de OToTR)
SOHTrHod. )@ (Dadaren |54 S Sdrorarn) =T ) jochE)
HOPAre)) egercir B e o0 AT00TE, & ATGI5

1o Arddidd ArEen SH@rhod (1) dAvod (@) Sdd A0
E901A BaFE0A) o0ME Dabod,

(@) 129450 AISFIFO0 AT 0050 630 [ AT H0riaenons
o 23aran (1) hlodiod.

(b) 12393 50 ASTFEFO0 D )OS0 (0a3t300 I AT (645 DOrian00ns
ol 23578 (2) I 0008,

() 155950 AArrdo Do Dadiaren L 1T £#of Horson
aochd » 2583 Sror aomno sEoE o 3o 3) M
[gvialalintale s

(d) 153 50 AAPTIGE0 BT H0CHE 1DHSSFTED L 1 Eed 5P HTR0
8 e9r3dda) FOF0 50000 S0 Baran () M haododb,

A E/x i}
In the adjocent feore 15 AD 1= peaalle] 1o CD7 M/

AAY
e oeioei’ AR, CT ao Rl 0 /fr D

I. M is the midpoint of EF,
LT o Soch Docioiip M.
I fx=4iy
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Data Sufficlency

el :.n;:'a‘._‘_:m

Mote:

(i)
(k)
()

id)

This question is followed by data in the form of two staremenrs labeled as 1
and 11, ¥ ouw must decide whether the data grven mothe statements are sufficiem
to-answer the questions, Tising the dara make an appropriate choice from (L) o
(4} as per the following guidelines:
Mark chioace (1) af the statement alone 15 sufficist o answer the guees o,
Mark choiee (2) if the statement I1 alone 13 sufficient o answer the question,
Mark choice (3} if both the statements 1 and 11 are sufficient lo answer the
question Dul neithef statement alone is sufficient,
Maik chioice €4) 1f Doth the statements 1 and I together are nof sufficient to

answer the question and additional data 2 required

MPUSeS: oned (16 &8 . 0 1804 L 1T &l Hdyen e Dok

[Dadudaren OFodomr  WajOlFon. wmod)ed OZFoTR)
AaErNo0, LA DdORren D15 AdPrara) 2o odoE)
acriren wgErdir 8o ed ond AFtomrd. & DT Ga5

S0 Ar0A0E SrjEeey SadIrNoD (1) Jdbod @) 865 A8
EO000 A a2l aomd oo,
{a) 1899380 DAFEFEG0 B 30050 e S0 1 AP S5 Sorpaucnad

a0 saren (1) ook,
(b} X 150 SaPA0 BT 05 GOS0 IT 4P DT nsunna
B () mihlodiod

(¢) (D150 HAFEFS0 ST 008 Hadderen 1 T Sad Homdsing
eotndl o 2888 Sror Sotio sErE Dy aaen ()
Bodiod,

(d} 159150 AATETE0 23 10005 HSDEren 1L 1 65 T SHTa0
B8 enchalay GEOH0 mARGS0NE D 2572 (4) T oS00,

g

-
-

.,-'-"'-Fl.'_

b L
L Mg mibpocensl Bsome PO wied PR e Laigoemls e v _f:._ | % ]
[ - i

-\-""-\._ [
cirgle willy cerler ©, whiil w5 the mdine ef e \kﬁ-"‘h:ﬂf.l

cimele?

e
S

& s, Dtanl’ O Bager e doorDE POL PR wo
Aoy Baen. e S0l :TI'_}E“:]M-"

L 1P)=10coe

PO = 10 2na b
M PR-1fcn
1B =14 2o b
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Data Sufficiency

OEFoF DT

MNate: This question is followed by data in the form of two statements labeled as 1
and IT. Youmus! decude whether the data given i the statements are sulficient
to answer the questions. TTang the data make an appropnate choice from (1) 1o
(4) as per the following pdelines:
{a)  Mark choice (1) if the statement I alone 15 sufficient to answer the gquestion.
(b}  Mark choice (2) if the statenient L alonc is sufficient to answer the question.
ie)  Mark choice (3) if both the statements | and 11 are sufficient te answer the
question bt neither statement alone 15 sufficient.
{d}  Mark choice {4) if both the statements | and L together are not sufficient to
answer the quastion and additional dara 1= required.

AFESa: e 1545 a8 (4. oD (S0 LI ed Mithen fe Bock
[Dadrey  OHF 00T [ojaiFam. S0 OFoT)
EDMIR0D, = )6 |Daharen (558 50 ddrerara) 90 0%
DTN eSEolr B el anth IT 0o, & AT O

1508 ArSddl ArErey SHTRNoD (1) od (1) 08 HO
S0 Baransh JonE Tabod.

(a) (29350 AATETG0 RS 1005 D0 1 Srpsa DRS00 s
20 23657em (1) T B osod,

(b} Y380 MePEIaI0 S 300D 5D |edsiako T Ar S0 AT A 0n S
a3 23aT2N) (2) M (D000,

(e} (oY1 5) MGIPETG0 BT 0 (DadciiTen L I 601 )P faleaion
mocheS o 888 Srer SHommo TEOFE S0 Raray (3) T
Codiod.

(d) 1599350 HATCFS0 9T 10 [Bacaren L 3o 5rD SR
4 eadidied OEP040 mEsid a0 oo 2aran (1) oo,

Wi 1= Z0 1w e (fgura?

VAN

cla Zaaraed o Sook!

L ek="%"
. T is pamll=l 10 AB

AR g O scroabo,
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Data Sufficiency

Sgros DovDe

Note: This question 15 followed by data i the form of rwo statements labeled as T
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
(4) as per the following gmdelines:

{a) Maik choice (1) if the statement [ alone is sufficient 1o answer the question.

(b)  Mark chowce (2) if the statement Il alone 1s sufficient to answer the question.

{c}  Mark choice (3) if both the statements 1 and IT are sufficient to answer the
gquestion but neither statement alone 1s sufficient.

(dy  Mark choice (4) if both the statements I and IT together are not sufficient o
answer the question and addinional data is required,

Brdicd: 108 (35 2.8 104, 0 1804 L 1T & Hhden fey Do
|edeTewy OFoJOm  [hinFoan. I OG0T
SOIErA0L), ™ 36 i ddmeen 1339 50 Addrprata) =@ 05
DOTgAren egEalr Do @d o AT00Td. & AT CE5

08 SrQcs s drErey aHarRoD (1) od (@) S05 H0
E900) &) BaFEND JODE FOHOB.

(a) D150 HArEFS0 2T H0E IHSSG0 [ arsh HorRsane
a0 23672 (1) r Mlodod.

b) 15350 DTG0 D005 a0 IT AT HoTanon s
ab 2ayaw () hlodod.

() D180 RASFrdo I )05 [Haddaren L I #00 HOPancn
mocs o 2508 dror aoo sEE S oz @)
MOodo.

(d} (534 B0 HArerESo =T 05080 1Hadaren LI E0d) S Hovao
2% sy OF0T0 e HHGN00E 2 22 (4) mhdood.

Whar s rhe slope of the Fige <07*

o Bdvda g o Ded?

I 40 pmsses throneh (0. 0},

0.3 ey T asatond.

. = s perpendicular 1o v-axis

we o2 I womin,
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Data Sufficiency

dgﬂﬂ% ::u»;:':_:o

Note: This question 1s followed by data m the form of two statements labeled as I
and [I. Y on must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropniate choice from (1) to
{4) as per the following guidelmes:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b} Mark choice (2) if the statement IT alone 15 sufficient to answer the question.

(¢} Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(dy Mark choice (4) if both the statements I and 11 together are not sufficient to
answer the question and additional data 1s requured.

APLId: 108 (575 .8 (7). o 1804 L T e Mdyen e Do
|Paviaren  Sd@odor  IafATFon. ) AF0TR)
SHTFNOD, FD )M |HIHDTED 9] 50 Qrprora) Fd,)0H5
DTN @YEdlr B @) M AT00Td). & AT TR

1800 Ar0aG)E ArEen HA@rNoD (1) ol () S65% 5O
00N BaFaned JonE Dobod.

(a) 1935 AATTA0 QT 0CHE |HSDA0 [ APSTH HT e S0n s
2 235720 (1) e Hdosod.

(b) 1334 50 AATEES0 DTS 10050 (DSSS0 I APl HOrLan0Es
21 2a720 (2) e HloS0d.

(c) 199150 HDATFS0 BE 050 [DSSaren L I 038 H07jaanon
@ochd o 288 Sror Homo TEFS M Baren () T
Mlodiod,

(d) (2393 80 SATTH0 23 005 HdddTren LI 8 B3 S0 R0
8 @055y GE040 SH80008 D 2720 (4) ™ HAoSoA.

What 15 the value af the integer n?

:'Ei'g"'\a-Ei-u N Jend Joed

. 1+p'=0

m =l
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Data Sofficiency

Sgro® DOYDO

Nete: This question 15 followed by data m the form of tvo statements labeled as 1
andd TI. Yo must decide whether the data given in the stalemenis are sufBewent
to answer the questions. Using the data make an appropnate choice from (1) 10
{4) as per the followmg guidelines:
(o) Mark choice (1) 11 the statement [ alone 15 sufficient to answer the gquesion,
(by  Muark chowce (211 the statement 1T alone 15 sufficient 10 answer the queéstion.
(c)  Mark chonce (2)1f both the statements 1 and IT are sufficient to answer the
question but neither statement alone 15 sufficiem,
(d) Mark choice (4) if both the statements I and I together are not sufficient to
answer the question and additional data is required,

APEhad: 95 1995w 8 15 T2 18od L I & hiden fe Do
laStieren GFoFOT @dsa@on. S0 GFFoFR)
SrafrRod, 206 [Deaddiare (4] 50 AArorira) S0 j0EnE)
Srelen esgEalr B esd) M ATDoETH. & AT On

o ArGodE AarMEren Sadlirnod (1) ol (4) S05 &0
0L BT e D0ng Sabod,

(a) (450 SATEES0 BT 00 B0 [ AT HoEond
2 2357 (1) T oo d,

(b) L2950 AATIFG0 D 0N OG0 I AF @S Dodmons
a1 23a7En (2) T hBodod.

(c) 153F150 Ardo T 1008 |Hacaren 1 1T $6f HTridanon
woches o 563 Svor domdo ENFE D mar2n (3) M
dodod.

(d) 5950 Ao A o) Hadiaren L I 0k Sro Homao
8 eacdadad GEPOI0 @aaG00 e o 2370 (4) T A0S0,

Is the posices witceer 1 divisible by 7247

720 & o rgroSo 0 EPhoD MaxIoE)

. nis divisible by 24 and 30,

2 Zobadn 30 eE 0 arfios adsdood,

II n=altlifa-2Wa+3Na+4 3 n+5) for some positve inemer a.

28 G4 gprrode 0 2 0= alntL o2 e+ 3 a4l Sl
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Dhata Sufficiency

STred LT

Note: This question is followed by data m the form of two statements labeled as 1
and 1. Y ou mwst decide whether the data given in the statements are sufficicnt
to answer the questions. Using the data make an appropriate choice from (1) to
(4] as per the followmg mudelines:

{a)  Mark chowe (1) if the statement I alone 15 sufficient 10 answer the question.

(b} Maik choice (2} if the statement II alone is sufficient to answer the question.

(cy  Mark choace (33 1f both the statements T and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mask choice (4) if both the statements T and IT together are not sufficient io
answer the question and additional dara is required.

SBrTses: e ¥V 8 199 T2 5o L I ead fiyen ey Dodk
Padaren OFodOr @[ jFon. )G OFoTR)
ey 00FNOT), L) Jed [a2e0te7m 0 |84 ) B0 QP ‘Hﬁ:.{i{f}:rﬂl.}
HOIED Gl Bor ed o AT00wTd. & JITOEE

800 APGSGE AMEren &amrNod (1) Sod (@) S05 S0
B304 2aT 2 d0mE OO,

(a) (5041 %0 AT A0 BT 05 BHSAM0 T AT S ST a0
20 Berzn (1) e dodiod.

(b) 129450 AT GO0 S5 1005 B a0 I A7 @D S0 oo
a1 2aTen (2) TP 300,

(©) 159150 AATEFS0 B H0ME (DadFren L I 300 Hridaan
moddd D w88 Sror Sopdo SENFE M 2w (3)
Mbodod.

(d) (943 55 AP0 293 30chE |HaCEren LI Eaf 7o H0Ma0
g8 ey AT 040 edatsnons o Baran (4) M HOoBoA.

What 15 the pescearage of defeerive irems prodiacad i factory?
28 soroed’ doird) Ah Shadwd’ oo oy SR e dod!

[.  The toral nsmber of defcerive noms & 250,

SR, SPeApL Side Deas 250,

11 The ratte ol delzetive senzs ke non delechve e 12 250 - 250

o deodr) Sdogpe ey o' be 5 Sdogye Rosg Dy, 1501 6250,
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Data Sufficiency

QOTro? DO

Note:

(a)
(b)
(c)

(d)

Thus question 1s followed by data in the form of rwo statements labeled as 1
and I1. You must decide whether the data given in the statements are sufficient

o answer the questions, Using the data make an appropriate chowce from (1) 1o
(4} as per the following gmidelines:
Mark choice (1) if the statement 1 alone 15 sufficient to answer the question.
Mark choice (2) 1f the statement IT alone is suffcient to answer the question.
Mark choice (3) 1f both the statements T and 1T are sufficient 1o answer the
question but neither statement alone 1s sufficient.
Mark choice (4) if both the statements T and 1T together are not sufficient 1o

answer the question and additional data is required.

Ardad: 9@ 19) 65 28 1954, o 1808 1 I el Hathen fex Boch

(DeTITTEN GOF0d0T W jaFon. @[ SToTR)
EDTTNOD, B0 )6 (SSddaren 94 5 AT 2300
Doren edEolr Doy af i Agooird, & HTdat

1Bod SrCSGE ArEen Sadirfod (1) Sod (4) H65 HE
B0 2T 20D JonE Dahod.

(a) 135915 DAFEEG0 BT 0E HHHS0 T Aresh Hordamand
2 Baran (1) M hlosod,

(b) 135950 ASrra0 TE 0050 D0 IT ST Hoascn s
ab Baren (2) m hoood.

(€) 199150 NeIFEF0 JT YOLNE [@eviaren I, I $60) 0 a0
modhs o a8 dror aoedo TEFS o =T (3) T
a0,

(d) (29 50 DFrrFai0 B0 100050 (Haddren LI R ST HoTao
58 eniobe) GEPOH0 504008 S0 2aran () e hiowod.

1% the i.1l|l¢Fl‘."1 =T -:.'l.1rr1'|:l|:l'-;ill-_".'

STgage 17 Aeclodar

[, bevas yeapmmnclers T when chvidesl by ¥4,

1t s B & aefodifitn, e de T,

IL  nisrelatively prime to 84,

£4 gy n Arbaporde.
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Problem Solving — Sequence and Series
Hﬁ.'a:-.&ﬂ‘f) s eouE AT e, $rave

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pamem.

JrEdds: 108 1D SEr ad)d dopjen MY e@fcen MR 2.8
15920 AOLATY) FERTYon. (PS (HNHSD I
[ IR ) DDNTO ADOG A0 oA B2 )5
e0ci 8o cabdras Ziolio BexiBoome ayrdoiré).

B .LEh : 96l

(1) 27 (2) 29 (3) 31 i4) 28
Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 22 Question Id : 9126063294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Problem Solving — Sequence and Series
A2 FOD AESTA, Fraen

Note: The following question has a sequence of numbers or letters that follow a
defimte pattern 1s given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattemn.

ARS8 1D SET DD Dopen T ofoen Mo 28
EHa@Dd AoLATFY) T o0, (D8 (DS YD
QTJS LY VDT DOG A0 0N BTV DNYTR
180 RoLArAE Zoho Eeisomr s 00d).

LxdM ! 12x13 ¢ ro21x23

{1) TxU (2) UxW (3} VaX (4) ZxB
Options:
1. % 1
o D
3 %3
4 % 4

Question Number : 23 Question Id : 9126063295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Problem Solving — Sequence and Series
R FOD — BAEITL. Faven

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence
without breaking the pattern.

Arddd: D8 1NN SO ad)d dopien T efoen TR 2.8
B0 ohATI) ST on. P8 (HSR rdd

[ )W AN DT OB A0 0D BTV Ja)TI
e85 Ao arA8 Zoro Bexitom srdoie).

10 @9 -9 -

(1) 88 (2 80 (3) 82 (4) 21

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 24 Question Id : 9126063296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Problem Solving — Sequence and Series
A2 FOD - wAEITL, Frven
Note: The following question has a sequence of numbers or letters that follow a
defimte pattern is given. Each question has a blank space. Thas has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattem.

Hrdad: (D8 1IDNSIT A)E dopien T @fTen MR a8
EHDADS JoDATR) FEVTI00. (8 (DS rYd
QDI T DAITO OB DO oA BTV D) TR
8 RoarNE Zoto Badisom b ord).

M) o BODO :: y 27000

(1) 900 () V27 x100  (3) 300 (4) 30

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 25 Question Id : 9126063297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Problem Solving — Sequence and Series
R FOD - BAEITL. Faven

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Ardd: D8 1595 ad)d dopen M efoen MR 28
E020Dd AohaTR) FrSTrion. B8 (DS e
[TI )M D DT DOG DO oS BTN HA)TI
|80 Aobharas Zioio BeisuoE ayrdoire),

BEYOND : YBVLEA :: WOULD :

(1) TLRIA (2) TLIRA (3) ZRXOG (4) ZXORG

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 26 Question Id : 9126063298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD — BAEITW. Faven
Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Ardd: 8 1HNSEr D) Hopen T sfoen MR 2.8
E020D&8 AahSTR) TSN Ion. D68 (D18 red
[ TED DANTO DOG A0 0D VIV D) T
@085 oD arA8 Zofo Bexidom srdoiTe).

(1) 36 (2) 49 (3) 64 (4) 81

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 27 Question Id : 9126063299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Problem Solving — Sequence and Series
A2 oD AESTe, Fraen

Note: The following question has a sequence of numbers or letters that follow a
defimite pattern is given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattemn.

ArSS: (D8 (HNSET 2@ doplen MY efoven mY 2.8
BHa0Dd ahSTY) DT on. D8 (DS YD
[ LD DAITE HOG DO oA B2 H)TR
e85 Aoh T8 Zodo Sexitiom srdoié).

» PEOI @ MEAT @ QIEX

(1) MEAL (2) LEAK (3) LAKE (4) GOAT

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 28 Question Id : 9126063300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
A2 FOD —— BAEITL. froen

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Ardd: D8 1595 ad)S dopen M efoen MR 28
02008 AchSaT) FSTrion. B8 (HI1SR e
[TI A D DT AOG DO oS 220 DT
a5 Aoharas Ziofo SeisoE sayrdoire),

August 1 64 D144

H'r'!.‘fg v G i D144

(1) July (2% October (3) November (1) December

2 w5 wd Asoeb Gonb

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 29 Question Id : 9126063301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
m.':u.aﬂ;s DD AEaTeD, $raen

Note: The following question has a sequence of numbers or letters that follow a
defimte pattern 1s given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattemn.

HPES: (DB 1DNSET a0 d dopien T @foen ma 28
B2 DS JoLara) ST, D8 (DS grYd
QDI LD DAITO OB DO @ONA BTV Q)T
50 R0LATrNE Zoio Baisom 30 0d).

15 @ 3150 120

(1} 5400 (2) 6400 (3) 6800 (4) 7600

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 30 Question Id : 9126063302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
A2 oD AESTe, Fraen

Note: The following question has a sequence of numbers or letters that follow a
defimite pattern is given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattemn.

ArSdS: (D8 (DS 2@ Dogpen MY eofoen mR 2.8
EHa0Dd AaHSTY) 3T ion. NS (DS Y
QLI D DO DOG A0 0N BTN Q4T
@& oD arAE Ziodo Sexitiom b oié).

11 : 69 - - 1011

(1) 332 (2) 323 (3) 233 (4) 223

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 31 Question Id : 9126063303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HDNE : 157105 JOFOIA HOOTHAW :

(1) (Jagjivanramyji: 5/5) (26255 oo &: 5/5)
(2) (Ambedkarji: 14/4) (woedcy & & 14/4)
(3) (Nehun: 14/11) (R0 &: 14/11)

(4) (Gandi: 2/10) (rrodd &: 2/10)
Options:
1.91
o %2
3 %3
4 % 4

Question Number : 32 Question Id : 9126063304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HDNE : 1HF)10S JOFOIO HOOHAW :

1 0 O

(1) A=|0 3 5

0 6 10

3 0 O

(2)B= |0 1 3

0 2 6.

4 0 0

3)C=1lo0 1 3

0 2 5

2 0 0

(4) D=10 1 2

0 2 4]
Options:
1. %1
2 ® 2
3.¢3
4 % 4

Question Number : 33 Question Id : 9126063305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HDNE : 1HF)10S JOFOIA HOOHAW :

(D f:R—R:fix)=x+1
() f:R—R: fix)=x"
(3) f:R—R: fix)=x"
(4) f:R—R:f(x)=2x+3

Options:

1. %1

2.2

3 % 3
4 % 4
Question Number : 34 Question Id : 9126063306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HDNE : 15710 JOFOIO HOOHAW :

(1) Mvsore (2) Chennai i(3) Mumbai i(4) Bhubaneshwar

DR 32y So008 205586

Options:
1.91

o ® oo
T %3
4 % 4

Question Number : 35 Question Id : 9126063307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HONE : 17105 HOFOIO HOOTHAW :

(1) 78 (2) 52 (3) 104 (4) 116

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 36 Question Id : 9126063308 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill 1n the
blanks with suitable answers.
HHRE: 198 (DS 28 HOIBDA oDATY) TENTan. e

DODSTY)  ADHOD  HOCAHHD  DATTTOS FFYOD
000 d.

(10.12.11), (14.16. 15). (18,20, 19). (22, 24, 23).

(1) (26,27, 28) (2) (26.28.27)

[
[ 8]

(3) (26,29, 28) (4) (26. 28, 29)

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 37 Question Id : 9126063309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern, observe the same and fill in the

blanks with smitable answers.

HORE: (DS 15935 28 PO ISDS DoDATD) FeFDT 0. es
DADAT)  HHDoD  HOCAHH  DATTTOS YO
000,

05, 20,45, 80 125,

(1) 165 (2) 17.0 (3) 180 (4) 195

Options:

1. %1

o %D

3 3

4 % 4

Question Number : 38 Question Id : 9126063310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill in the

blanks with suitable answers.

BNYE: 1HA 1HNS 28 DDIBD DADATY) aFe3T 0. e
DODATAY  HH0D  HOAHH  dATTTOS  FrPod

0000,
o ok L SR T R
FII ':_II Eli ?| [EI. {:I
13 11 10 3
{1} = (2) = {3) = (4} 3

Options:
1. %1
o ® oo
3 %3
4. 9 4
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Question Number : 39 Question Id : 9126063311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill 1n the

blanks with smtable answers.

HRRE: 158 DS 28 HOIBDS oDATY) T3 NT 0. es
DADATRY MDD HOALH  DATTTOSE FEYOD
000 h.

4, 11, 30, 67.

(1) 28 (Z) 1Z% (3} 134 *) 1z3

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 40 Question Id : 9126063312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill in the

blanks with suitable answers.

R : (DA 1H11eF 28 DD ISP DoAY Fe3Daryon. e
DODNSTAY  HHVOD  HOANN  DIATTTOS YO
a3 O0B00.

=¥
-

, 1

2
2

(Iy 14 2y 13 (3 11 4 12

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 41 Question Id : 9126063313 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
TS ICET 2018
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Note : The question follows a definite pattern, observe the same and fill i the

blanks with suitable answers.

MY : (D8 DS 28 PO IBDS DoDATI) TeNT o0, es
DADSTA)  HDNOD  DOADMH  DAPTTOS FFLOD
arO0H0A.

43..30, 34, 2B,

(1) 21 (2) 23 (2) 22 (4) 20

Options:
1.91

> w2
3 ® 3
4. # 4

Question Number : 42 Question Id : 9126063314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill 1n the

blanks with smitable answers.

B : (D8 DS 28 PSS DADATD) TeDTyon. e
DADSATAY  HDAOD  DOAHMN  DAFTTOS YO
000 h.

196, 16, 44, 36, 100, 64, 64,

(1) 8 (2) 16 {3y 32 (4 100

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 43 Question Id : 9126063315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Note : The question follows a definite pattern, observe the same and fill in the

blanks with suitable answers.

BONE: (HB (DS 28 DB DohAT) T3 an. e
DAADATAY BN DOAHMN  DATTTOS YO

st 0000,
YACE, QQSUW, . ACEG
(1) IRMO (2) IKOM (3) IMEO (4) IKOM

Options:
1.v1

2 %
3 % 3
4 # 4
Question Number : 44 Question Id : 9126063316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Note : The question follows a definite pattern, observe the same and fill 1n the

blanks with suitable answers.

HooRE: (H8 (HNS 28 OIS DADATD) reddaryon. e
DANSTY  HHV0D  HOAHHH DT TOS YO
s 0006,

1. 4, 27, 1%. 1235, 34,

(1} 264 (2) 282 (3) 343 (4) 364

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 45 Question Id : 9126063317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern, observe the same and fill in the

blanks with smitable answers.

BRNE: 158 (H1)S 28 D ISDS DobATY) areddayon. e
DAADATY BN HOADMN  DATTTOS YD
0004,

5. 16, 51, 158,
(1) 280 (7) 324 () 384 (4) 48]

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Id : 9126063318 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Problem Solving — Data Analysis
22 Fed — GT0F DI
Note: An mdustry selected candidates during the years 2000-2005 in different
subjects as given in the following table. Study this table and answer the

questions 46 to 48,

Ar3d: s D832 2000-2005 Dodd tiwed’ DG TFws’ whidutn & o
DEES” BrDHLr Jode BrwEod. & DY DEFDD 16 — 48 DIy LD

252000 fa;.:asuu:.‘..

2000 2001 2002 2003 2004 2005
Science
15 16 18 20 16 18
Dgﬁ-.‘-ﬁ- wf_:_:--::-
Enaineering
. 3 12 10 o 10 11 12
FoEdE 700
Commerce . ) I 5 l 3
Feedag TRo
Agnculture g & 9 g L o
Sfdra TR
ATls
4 2 3 2 3 3
=1=F%)
Total 40 38 40 42 38 44
Sub questions

Question Number : 46 Question Id : 9126063319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018
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What percent of the candidates of Agriculture were selected in the given
period?

& RO S e’ I TR0 Do TRk i FTdoe?

(1) 19.36 (2) 18.38 (3) 20.56 (4) 19.83

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 47 Question Id : 9126063320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What percent of candidates in Engineering were selected i the vear 20027

2002 RoS3BH0085" JoDdE TRAD wHdowd’ FeEAE TR L Dowododd

aaj-gg.m FTHO wodh?

(1) 21.5 (2) 21 (3) 22.5 (4) 22

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 48 Question Id : 9126063321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What percent of candidates of Arts were selected on the period 2000- 20037
2000~ 2003 sr008s” dods SRED BZGHWS SFLD Ponededd IO T

woch?

(1) 7.35 2) 6.25 (3) 6.85 (4) 6.5
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Options:
1. % 1
e e
3 %3
4 % 4

Question Id : 9126063322 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Cuesticon Label | Comprehension

Problem Solving — Data Analysis
pody Fos — S04 DAL

Note: Observe the bar graph showing Indian sales tax rates durnng 2008 to 2018,

Answer questions numbered 49 1o 53,

A Sob ﬂm&a o ey o DAY 2008 Soet) 2018 Sy &d) 06 corodo

escredorT 49 Aod 53 SO ru DI o asrediny.

15
16
14
122 125 3536 12.36 1236
12
0
2008 2009 01O 2011 I0E2 2013 2014 2015 I0LG 2017 ZOLE

Sub questions
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Question Number : 49 Question Id : 9126063323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage of increase 1n sales tax from 2016 to 2017 1s?

2016 Avoct 2017 £ i) So HAW) & 20 Fdo?

(1) 15 (2) 20 (3) 25 (4) 3

Options:
1. %1
2. ¥ 2
3 %3
4 % 4
Question Number : 50 Question Id : 9126063324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

By what percent the sales tax decreased from 2011 to 20127

2011 Avod 2012 £ ey o DA &' fad Fde Joa?

(1) 1.12 (2) 1.2 (3) 1.25 (4) 1.5

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 51 Question Id : 9126063325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage mncrease in sales tax from the year 2008 to 2018 1s:

2008 Aood 2018 £ ei) so DA " BB Tdo!
(1) 44 (2) 45 (3) 46 (4) 47
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Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 52 Question Id : 9126063326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sales tax rates were stable and lowest during the period?

&:‘.u-‘]iau ::m;l r::gﬁnwm. eded a‘!:s%:umm &.-'bj sPep”

(1) 2008-2010 (2) 2009-2012

(3) 2012-2014 (4) 2017-2018

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 53 Question Id : 9126063327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What percentage growth of sales tax duning 2010-2018?

2010-2018 Socy sPw0d’ ean)go DAY 2,8 70!
(1) 43 (2) 44 (3) 42 (4) 50

Options:
1. %1
o WD
3 %3
4 % 4
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Question Number : 54 Question Id : 9126063328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

LetA. B.Cbesetsand S=AUBUC. ForanyTc S letT!' =8 - T and n(T)

denote the number of elements in T. If n(A) = 20. n(B)y = 21, n(C) = 8.

nduBuc€) = 35, nAnBnC' )=, n(BnCnAa)

Il
B

nCNANB')Y=4dthen. n(AnBNC) =

A B Cuoddowd STAUBUC D edSed. p8 TCSAT =5-T
w0d. T D Avresee “opi 1(T) ArnivocanEed. n(A) = 20. n(B) = 21.

n(C) = 8 n(AUuBuUC) = 35 nAnBnchY=6. nBnCnA) =2,
n(CNANB'") = 4 wond ey nANBNC) =

(1) 4 (2) 3 (3)2 (4) 1

Options:
1. % 1
o %D
3 %3
4 v 4

Question Number : 55 Question Id : 9126063329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In a survey conducted on 50 students who wrote TSICET. 25 want to pursue

MBA. 30 want to pursue MCA and § want to pursue either MBA or MCA.

How many want to pursue both MBA and MCA?

TSICET o°R3 50 2008 dorjtorr 0DaraD80ns ogrodd D" 25 2od
MBA. 30 200& MCA 63630605 205006 Sradrd. § Hood & Bocd
Saowe’ 320 wanT 36S0M% e @osd Bdr M. Jod od Derjdoend

& Boch Edoyur Sededud Bodwpd Brard?
(1) 10 (2) 12 (3) 13 (4) 15

Options:
1. %1
o %D
=¥z
4 % 4

Question Id : 9126063330 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Juestion Label - Comprehension
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Problem Solving — Coding and Decoding Problems
ooy das — SA0R, AFAON dadgen
Note: For the English alphabet A, B, ....... £. a code 15 evolved by the following

miles:

(i)  Keepthe Vowels A, E. 1. O, U as they are without any change and
(ii) For rest of consonants. each consonant is replaced by the immediate
next consonani. (Ex: B—C, D—F, ....... Z—B). The reverse process is

followed for decoding.

Usmg coding mles answer the questions 56 - 60,

Arsd: wmefiip weddrw A B, ... Z 9D ad 88 Do & 20b DGorr
&riTofomrda.
(i)  waxnew A E LO.U LD 350, Jetr werd 2pode.

(i) 2O TR, OBTS e § Aroew. e B—C, D—F, ...

Z—B. 82 D" D3O orqoe EEdoh & Trebordy. & E'doh

EEdof v adairhod Dy 56 - 60 v daroTdiged.

Sub questions

Question Number : 56 Question Id : 9126063331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code word for “WATER™?

“WATER' & §& Ddo 267

(1) WBVES (2) XBVES (3) XAVES (4) WAVES

TS ICET 2018
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Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 57 Question Id : 9126063332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word 1s coded as "NWOCIME™?

‘NOCIME" re D Derdy EQ Beco?

(1) MNBHLD (2) MOLIBE (3) MLBODE (4) MOBILE

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 58 Question Id : 9126063333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the code word for ‘KAKATIYA'?

‘KAKATIYA® £ E& DHao DAY

(1) LALAUIZA (2) GAGAQIVA

(3) LBLBRIZA (4) CBGBQIZA

Options:
1.v1

o ® oo
3 ® 3
4 # 4
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Question Number : 59 Question Id : 9126063334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the code word for ‘MARKETING™?

‘MARKETING 'sb 8'& DHese &7

(1) NBSLFUJOH (2) NASLEVIPH

(3) NASKEUJOH (4) NBTLVJPH

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 60 Question Id : 9126063335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code word for ‘FINANCES™

‘FINANCES' & E'& D0 Da?

(1) GANDIPET (2) GJOBODFT

(3) GIQAQDFT (4) GIOAODET

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 61 Question Id : 9126063336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If ‘SQUARE’ is coded as "TRVBSFE" then the coded word for ‘RHOMBUS' 15

‘SQUARE’ &5 ‘TRVBSF = £& &% ‘RHOMBUS' & §& Do Da?

(1) SINPCVT (2) SIPNCVT (3) SNIPCVT (4) SPINCVT

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 62 Question Id : 9126063337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. If '‘BOMBAY' is coded as ‘DOPDAB’ then ‘DELHI" 15 coded as

'‘BOMBAY" & ‘DOPDAB’ rr §& &% ‘DELHI’ © §& o’

(1) GENCI (2) GENKI (3) GENI (4) GENLI

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 63 Question Id : 9126063338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If ‘EKTSD 1s the code word for ‘FLUTE" then the code word for ‘“VIOLIN is

‘FLUTE® €5 §& D60 "EKTSD” sana “VIOLIN £ §& nco?

(1) UNHKHM (2) UKHKHM  (3) UHKKHM (4) UHNKHM

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 64 Question Id : 9126063339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If ‘SEMINAR™ 15 coded as ‘RANIMES’ then the code word for ‘MAYTAS is

‘SEMINAR' & ‘RANIMES' re §& &5 ‘MAYTAS = §& dabeds Hée?

(1) SATYAM (2) TASYAM (3) ASTYAM (4) ATSYAM

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 65 Question Id : 9126063340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If TDEA" 1s coded as ‘94351 then the code word for 'TDEAL” is

‘IDEA” &5 °9451° e §& &2 ‘'IDEAL” £ §& Deo?

(1) 945111 (2) 945112 (3) 945113 (4) 945114

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 66 Question Id : 9126063341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems

PRIy FSd — BA. ADHANO, @DOEE DD

After the year 1990 which year has the same calendar as that of 199()?

19G0 ﬂam:jﬂa Scoeed, 1900 s ecis erotd sodocd .;Q_jm?, ﬂﬂmﬁﬁb A7

(1) 1995 (2) 1996 (3) 2001 (4) 2002

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 67 Question Id : 9126063342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Selving — Date, Time & Arrangement Problems

RBFY Fed — B0, AHADO, @HOEE DD

At what tine between 3 pm and 4 pm the hands of a clock are together?
Fraegde 3 fobcin 4 robw gy Adairded’d Joe, 28 8B Py
e dyotraw?

il 5 -5 Rl f
(1) 3.16;; (2) 3.17 (3) 3.18_ (4) 3.19-

Options:
1.¥1

o ® oo
T %3
4 % 4

Question Number : 68 Question Id : 9126063343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018
Problem Seolving — Date, Time & Arrangement Problems

RBFY Fed — BO), AHADO, @DOEE DN

A clock gans tme wuformly. It 15 found to be 2 nunutes slow at 12.00 noon
on Monday and is found to be 4 mm 48 sec fast at 2.00 pm on the following

Monday. When did the clock shows the correct tume?

w8 Adoirde DS 636 DIVOIE I8 D BIrDRD B F DT Co JOTEF) 0
12.00 & 2 Daoodren 989 O Srdod . 2008 Tdoorde Fabedo 2.00 £
4 J20dre 48 DEDO J&) D GO & Acairdo AP DO BABD DIOALVO

Bridood?

(1) 2.00 pm on Tuesday (2) 2.00 pm on Wednesday

Suofiv Jrdo Jradodo 2.00 206 J*Co Jraiodo 2.00

(3) 2.00 pm on Thursday (4) 2.00 pnion Friday

M ardo Jrodogso 2.00 #08 Todo Frofodho 2.00

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 69 Question Id : 9126063344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Seolving — Date, Time & Arrangement Problems

RBFY Fed — B0, AHADO, @DOEE DN

A man said to a lady “vour mother’s husband’s sister 1s my aunt”. How 1s the

lady related to the man?

28 WO uE LS B v "D ) deg), B¢ A, Tes TL By’

BSIE B D DSI0D Doroco?

(1) Daunghter (2) Sister
S35 Jeso
(3) Mother (4) Grand Daughter
G 1) DORSOTTD
Options:
1. %1
2 2
3 % 3
4 % 4

Question Number : 70 Question Id : 9126063345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, I'ime & Arrangement Problems
RDFY FESH — BA). DHODO, DOZE) HNDEN

A bill payment office has 3 counters working at staggered timings between

8.00 am to 6.00 pm. The first connter is open between 8.00 am and 2.00 pm.

second from 10.00 am to 4.00 pm and the third from 12.00 noon te 6.00 pm.

Durmg which of the following time slots are all the three counters open?

Denen 3ol a8 0 G’Y 3 Sotidd adabe 8.00 Aol Jradode 6.00
S8 Db D ddovoired HI BIron. ISBE edodo 8.00 &vod

2ErEryo 2.00 308>, Bocss esawe 10.00 Aved Fraboge 4.00 Soer.
2rESE DErErye 12,00 Aod Foboge 6.00 S8 HD B . & Sobd

Svee 8y Fotdd 3D DIvoie D&’

(1) 10.00 am to 12.00 noon
ecaie 10.00 Aed mgﬂsaﬂ;}'u 12.00 Sdso

(2) 12.00 noon to 2.00 pm
.‘::J:.jsﬂatwﬂla 12.00 Sa0d mc_sma;h“ln 2.00 S8

(3) 2.00 pm to 4.00 pm
SogrgEry o 2.00 Asoect Aradoocto 4.00 ddg

(4) 4.00 pm to 6.00 pm
Frabeodeo 4.00 Aoed Jrabiogte 6.00 HE

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 71 Question Id : 9126063346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

RBFY FED — B0, DDONO, @HO5 DD IEN

Two people were argning abouf the distance between two cifies A and B. the
first one said that the distance 15 more than 100 ki but less than 150 km. the
second one said that 1t 15 more than 140 km but less than 190 km. If both of

them are correct, which if the following options 15 the possible distance

between A and B.

MGE o Docd drTren A, B © Bog) drde bed ordecol sty .
&3 Srdo 100 3. 1. 08 Iy D 57D 150 3. . S0 By S w6 0B 38
0T . & BrGo 140 4. . S0t Jey S 5D 190 8. > . Got B D w0
Doctd S(d ey . RGW Byed Daind . & Sod T8¢ 38 A. B u 2uay
Grdo SO

(1) 130 km (2) 135 km (3) 145 km (4) 155 km

130 &. & 135 &. . 145 &. &, 155 & 8.

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 72 Question Id : 9126063347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, I'ime & Arrangement Problems
RDFY FESH — BA). DHODO, :DHOZE) HNDEN

Three men A, B, C and three women D, E, T sit around a circular table all
facing inwards.

(1) A is to the nght of D who is opposite of E;

(i1} C is to the left of F but not next of B:

(i11) E and A are on either side of B.
Who is opposite of B?

A. B, C 3 2006 ipdokpws dobotn D, E. F ed &0 Heo e
DTSPOELY) WL CLlT @oddr SAooder ST GO,

(i) E 2 dandorr arcond) D 0 0820 A DT .

(i) Fooed pipd C ey, 53 B pg o 5.

(1) E. A en B £ 20aer &7y .

B £ Jcodomr Q}iﬁl& sdeddd?

(1) C (2) D 3) E (4) F

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 73 Question Id : 9126063348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Date, Time & Arrangement Problems

PRI FSd — BO, DHADHO, @HOEE DD eV

If the svmbols a,f,y and § denote the anthmetic operations of addifnion,

subtraction, multiplication and division respectively. Then,

a, By, 8 v ddarmr drdd. Gada. ronsede. arratde @b wod Hodahedd

A% AR

[B6ad)y (Bad)]d[(9a3)p(5y2)] =

(1) 240 (2) 280 (3) 320 (4) 360

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 74 Question Id : 9126063349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Seolving — Date, Time & Arrangement Problems

RBFY FSd — B0, AHADO, @DOEE DO ED

For nonzero real numbers x and y operations * and A are defined by

2apl 2x o .
X =y = : :" and xAy= —. If a*b=4A4. then the relatton between
aand b 1s
I2+TE 2%
w:ﬁéédnﬂ’@.ﬁa’:nm:gmr,yﬁﬁgmm * Aenx =y = 5 Lx Ay = -

:}dsﬂu:} egron. a* b = 4 A4 eowd a, b o 2| Doeede.

(1) a=b (2) a=2b (3) 2a=b0 (4) 2a=3b
Options:
1.91
2 %

3 % 3
4 # 4

Question Number : 75 Question Id : 9126063350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems

RBDFY PG — BO. HDAHO, @HOEL) DD geN

1
Forrealnnmbers x and y. letxoy=x+y—2xy. Ifxrox = 7 then x =7

m’@:‘mnqaﬁw X, yos xoy=x+y—2xy w8 od. xnxz%. eao00ed
eTye X =7

) , 3 Hl
&g (2) 1 (3) ; (4) =

Options:
1. %1
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2 %2

z ¥ 3

4 ¥ 4
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9126063351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdod &o:ngae

Vax + by +vVez=K J(a+ b+ c)(x + y + x) thenK=

=]

X

=~ =" 2B
b r

a

Vax + Jby +Vez =K J(a+ b + c)(x + y + x) ®ans o K=

(1) | (2) © (3) -1 (4) vabc

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 77 Question Id : 9126063352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogricdd &mgﬁa

If a. b. ¢ and d are non-zero real numbers such that a* = b = ¢ = d" and ab=cd.

1
then ——

X

LR

a. b. c. d w0 B8 7D Poagy. a = b’ =¢" =d" 20000 ab=cd wond

L I
(1) E+:

-
[ B
L

-r||_||
|
-
Sl
—

g
|

":Iiﬂ'

(4) 1

€|

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 78 Question Id : 9126063353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esoSiched &mgﬂa

Rs. 4600 1s divided among A. B and C such that the rato of A's to B's share 15
2 : 1 wlale that of B's to C’s share is 6 : 5. Then how much did B got?

A.Bo ortre 3338 2 11 o B, C @ arére J3yy8 6:5 edbyéorr d. 4600

oo A, B. C v Dodddun &od. eoinch B Jod 2ndo?
(1) 1100 (2) 1200 (3) 1300 (4) 1400

Options:
1. % 1
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o Wz
3 %3
4 % 4

Question Number : 79 Question Id : 9126063354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00 eI ﬂb:ugﬁa

IfA:B=3:4B:C=15:16.then A;:B:C=

A:B=3:4B:C=15:16.mona A:B:C=

(1) 3:15:16 (2) 4:16:25 (3) 45:60:64 (4) 10:15:23

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 80 Question Id : 9126063355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdd bmgﬁe

If x=7+43; y=7-4V3: Illexn_lt ki

yi
x=T+ 43 v=7-4 43 Haa:am}m%+ - =
(1) 148 (2) 172 (3) 194 (4) 208

Options:
1. %1
o R
3. v 3
4. # 4
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Question Number : 81 Question Id : 9126063356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eo0SMiedd &m%a

x=3/5 = 3;1-4 =

(1) 5x (2) 6x (3) 4x (4) 3x

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 82 Question Id : 9126063357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdod ﬂvmgﬁe

If a=b and the decimal number 12a3408322 is divisible by 9 then the ordered
pair (a.b) =
a=b eow SF0® Doay| 12a34b8322 @38 9 3 wrhoderdd svaiwdoe (A, b)=

() 2.9) (2) (9.2) (3) 4.7) (4) (3.8)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 83 Question Id : 9126063358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evosrcio &mg&o:

4nd45n+10 .

The number of natural numbers n such that ———— 15 a prime number
n

4t +5n+10

—a DIQ wE PO VOIW[OC{LOTT BT DOWILL 11 & RO

(1y 1 (23 2 (3) 3 (4) 4

Options:
1.9 1

o oo
3 %3
4 % 4

Question Number : 84 Question Id : 9126063359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricded EJ»:ng&a

What 15 the largest mumnber when subtracted from 4000 15 divisible by 7. 11 and

137

-y ﬁﬁfﬁ a’ana::jaa‘.u 4000 Sood apwm woco ow .:f:c'ﬁ.} r-’:u:u:;::gl 7. 11 Sobcia
13 d aorfodeaciady?

(1) 1999 (2) 2099 (3) 2999 (4) 3099

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 85 Question Id : 9126063360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogrichd Eh;:pgﬁa

Traffic hights at three junctions A, B and C change every 25. 30 and 40 seconds
respectively, If all the lights change simultaneously at 9.00 am then the time

when all of them change together next 1s?

Sorcd sravy A, B, C ¢ &rdE g ddorre 25, 30 2obotw 45 2830
ardodomryow. . 9.00 vRoanod’ B0y CLo LEX8 ATEd . GOD0 By

208 I8 A58 Haoobe?

(1) 9.05 am (2) 9.06 am (3) 9.10 am (4) 9.12 am

. 9.05 6.9.06 &. 9.10 a. 9.12

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 86 Question Id : 9126063361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
083 bmgﬁa

24? ends with the last three digits?

2% wAA DG & 0T WoBLS BWoBXT A0S

(1) 726 (2) 776 (3) 746 (4) 710

Options:
1. %1
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o Wz
3 %3
4 % 4

Question Number : 87 Question Id : 9126063362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdod ﬂvmgﬁa

3 . 17 ;
If = th of a number n 1s subtracted from = th of that number. we get 325, Then
n=

28 Doy N oo g ! wmﬁl, & Doy G, % Mood Oidodorre 325
arocioEr ). WG 1 =

(1) 520 (2) 1040 (3) 2080 (4) 4160

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 88 Question Id : 9126063363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

00 SMiEID &mg&a

| v
o |

2
3

L e
1]

Which 1¢ the smallest among

3 4 5 i
e > & wes d ﬂﬁc}_ﬁ: T3

sk | 3

(1 < @3 E () 2

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 89 Question Id : 9126063364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

00 S eI &mg&a

The ascending order of ¥10. V6. V3. V9 and V8 is

V10. V6. V3. V9. VB o esBirem divo

(1) ¥Y8. ¥10. V6. V9. i3 ) ¥8.%¥3. V6. ¥o. Y10,
(3 ¥8.V3. V10, V6. © 4) V3., V6. ¥9. V10. V8

Options:
1. %1
o %oz
3. ¥ 3
4 % 4
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Question Number : 90 Question Id : 9126063365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

Tl 18 2] ﬁbmg&a

If3 % by of 6 %:'-'u of x 15 9 then x=7

X coos) 6;% caE), 3%“-:' o3& 9 vand x="7

(1) 20040 (2) 4000 (3) 6000 (4) 8000

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 91 Question Id : 9126063366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evosricio &mgﬁe

When 85% of a number 1s added to 24. the result 1s the same number. What 1s
that nmumber?
8 Ropf ), S5% & 24 55 Se0nDmT el Qo0& Disorr J00d. e Roaxy

287
(1) 160 (2) 140 (3) 150 (4) 180

Options:
1.v1

o ® oo
3 %3
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4 % 4

Question Number : 92 Question Id : 9126063367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evodricdod &mgﬁa

The cost price of 10 articles 1s equal to the sale price of 12 same articles. What

15 the out-come of this transaction?

10 S30p §9)66 @ 12 S30po 8d), GO0 DITIS. & B D

3eho?
2 2 .
t]]-lﬁ-;'?h]&-;:': (2) 16-:__:'1!11 Gall
- 2
J.i);“w:l A0 16;“--} erZio
100 : . 100
(3) 5 Oh gain (4) = 0h loss
100 100
= %% erzio N % Ao
Options:
1.1
o %D
3. % 3
4 % 4

Question Number : 93 Question Id : 9126063368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

esoSricied bmg&a

Shyam marks his goods 25% above cost price of an article and allows a

discount of 12.5%. 1f he sells that article for Rs. 875. what 1s 1fs cost price?

F0 SR DB WY FA G0 25% wdgorr DeSd Do agboﬂ
12.5% &fio) DI, S HSHD) wE DAY 6r. 875 D ey o Sy
&6 o
(1) T850 (2) I825 (3) TBOO (4) T820

Options:

1. %1

o ® D

3¢z
4 % 4

Question Number : 94 Question Id : 9126063369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogricdod Eh;:pgﬁa

P and Q enter into partnership with capitals in the ratio 5:6. At the end of 8
months P withdraws. If thev receive profits in the ratto 5:9. how long Qs
capatal was used?

P. Q e 5:6 dtowdow i3S w8 edn)d orErdes’d PHIDS. 8 Bow
adoTre P DATah0. or® ereredd 519 Jianyde” HomEoltd Q 08 Joerd
E2HoDd S0 2567

(1) 11 months (2) 9 months (3) 10 months (4) 12 months

1] Seen O Swew 10 Sees 12 S

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 95 Question Id : 9126063370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

enoSricdad é-mgaa

A and B started business by imvesting Rs. 10 lakhs and Rs. 15 lakhs
respectively. After 6 months C joined by investing Rs. 20 lakhs. At the end of
the year the ratio of their profits will be?

Sodhrr dr. 10 wogen, & 15 v ::E.Ju&.ufir' A B E-:'.:gd:l' 28 :‘éa“n‘ﬂl

6oDodB. 6 dve sdTre ar. 20 vie Déowdd C 3o.

RODS T 0SI0D T°0 erere Aing?
(1) 1:2%3 (2) 1:3:4 (3) 2:2:0 (4) 2:3:2

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 96 Question Id : 9126063371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
e9oSricded .Ei--;:ugéa

Two taps P and Q can separately fill a cistern in 12 minutes and 18 minutes
respectively, while a third tap R can empty 1t in 9 nunutes. In what time (in
minutes) will the cistern be full. if all the three taps are opened together when

the cistern 1s empty?

Boc deren P. Q e DDA ws SO ddonre 12 Dodren oboso 18
ADTred’ Jeddosy S 20rs o R o F83 0 Ddodred” P
Sarocs. §8 a9 6y Jrd Ao 2830 303 I
Qochireh BE Dvabo? (Adodrers’)

(1) 24 (2) 42 (3) 36 (4) 30
Options:
1. %1
o %D
3. ¥ 3
4 % 4

Question Number : 97 Question Id : 9126063372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogricdd E.h;:pgﬁa

A pipe can fill a tank in 15 hours. Due to a leak in the bottom. it 1s filled mn 20

hours. If the tank 1s full. how much time will the leak take to empty 1t?

28 SO 28 DY 15 Aoy’ Dodredy. FB edyb oo o ug Dl
sromorr 88 20 fote’ Dodad. & Docore &y Did sy e ard

s ArDS a0 Duado?

(1) 45 hours (2) 50 hours (3) 40 hours (4) 60 hours

45 rotoens 50 fotsed 40 totdeny 60 riotxen

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 98 Question Id : 9126063373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

eoogricdd &mgﬁa

A car travels a distance of 170 km i 2 hours. partly at 100 kmph and partly 50

kmph. The part of the distance covered by the car with the speed 100 kmph 157

Eossermrdy oty 100 4. 5. Sriofar . 25880 D) Aot 50 4. 5.
Sriod’ poairear w8 s 170 4. . Grordy 2 dobies” LPEEHA. Aot

100 4. &b Sried pairelodAin G7d BhS drdo?

(1) 140 km (2) 120 km (3) 100 km (4) 80 km

140 &. Ho. 120 &, Do. 100 &, . 80 &. Ho.

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 99 Question Id : 9126063374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

esoSricied &mgﬁa

A man walks along the diagonal side of a square ficld at the rate of 10 kmph

for 30 nunutes. What 1s the area of the square field? (in sq. km)

SS0oAT 0ot WDy W8 oo DSgo orr robd 10 4. . Dried ws D58

30 Dluires HADW. & SBOFEC Edo DT’ (0. & . &)

(1) 25 (2) 12.5 (3) 20 (4) 15

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 100 Question Id : 9126063375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdad a»mgaa

Shyam and Ravi together can do a work in 8 days. If Shyam alone can do it in

12 days. in how many days can Ravi alone do the work?

{0 Dobadn 6D wedr £ w8 DI 8 Bd’ Yrédabliud. e w58 ¢
22D 12 Berd” rodabadid. 6D ) d & DIV DY e’ b
Ladriucy?

(1) 22 (2) 16 (3) 20 (4) 24

Options:

1. %1
TS ICET 2018
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o oo
3 %3
4 ¥ 4

Question Number : 101 Question Id : 9126063376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esogricdd &mg&a

12 men or 15 women complete a work 1 14 days. The mumber of davs

required to complete the same work for 7 men and 5 women are?

12 2008 ipdodypen dor 15 2od Heo g DI 14 Hered® Hrodobodad. 7
A IHEITPLL 20T 5 HE Sew 2D ed B HTD SAHL S DD
B ave Romy?

F e -~ 5
(1) 12—+ (2) 135 (3) 12; (4 15—

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 102 Question Id : 9126063377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evosrcio &mg&o:

The ratio of the area of square to that of the square drawn on its diagonal 157

208 ESR00H EFH‘“@FJ% Snboin t Sdadh ﬂsgﬂ.‘.'}l Zoxore (L S8 Bl
TS o i d?

(1} 2:3 (2) 1:2 (3) 3:4 (4) 4:3

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 103 Question Id : 9126063378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdod ﬂvmgﬁe

The surface area (in sq. cm) of the cube each side of which is 11 cm 15

D9 worsy 11 0. Q0. M1 WY GDEBY DTV (3. Do. . &°)

(1) 726 (2) 744 (3) 864 (4) 384

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 104 Question Id : 9126063379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogrichod &»mgﬁa

A metallic solid evlinder of height 1 meter and base radius 0.75 meters is

melted and cast into a solid sphere. The diameter of the sphere (in meters) so

formed 1s?

| Doesdd DG, 1.75 Dorg BrT3do S8 28 Sy 23 PrarDd) $6Acd)
wE S'orip o A've dairds dard. @ v Jrjoo (Doesges”)

(1) 2 (2) 1.5 (3) 0.75 (4) 0.50

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 105 Question Id : 9126063380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

0o SreI *5“‘5'-".%5'3

The diameter of the sphere whose volume 1s 1 ?9% cubic meters?
2
179520, . Do DBATErD) €85 He orpRo?

(1) 6.5m (5.) (2) 6 m (D) (3) 7m (D) (4) 7.5 m(Ho.)

Options:
1. %1
2 %z
TS ICET 2018
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3¢ 3
4 % 4

Question Number : 106 Question Id : 9126063381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eooSrichod &mg&e

If the length of a rectangle 1s decreased by 4 cm and the width 15 increased by 3
cm. a square with the same area as the ongmal rectangle will result. Then the

perimeter of the rectangle 1s?

8 B8 S806Re Fepd 4 Jo. & Bfod). Ice o 3 Do. 2. DODIRDINES.
20 BF 3306ReE HAFD pTwlo 803 SBUGRo DadILoNS . & &S
SSCR wobnws?

(1) 40cm (2) 45cm (3) 50 cm (4) 52 cm

40 2o. Do. 45 0. . 50 Do. Mo, 52 20. 2.

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 107 Question Id : 9126063382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogrichd &mgﬁa

A hall is of dimensions 13 m X 9 m. The cost of floorng this hall with nles of

area 750 sq. cm each costing Rs. 20.

13 . X 9 &, Sodeorr ABR w8 Do PHod. & Dud” DS 288 ar. 20

Dens 35 750 &. Do. D, PFege D woten I DTS waly BAN]

(1) ¥3100 (2) ¥3120 (3) T3080 (4) 3112

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 108 Question Id : 9126063383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evoSrichod &aogﬁa

The cost of fencing around a circular field at Rs. 5 per meter is Rs. 220, What

15 the total cost of cultivating the field at Rs. 10 per square meter?

Dot 248) 0tdd Ar. § DD 28 HTTEE Eoo wubF S0 DAoL B
L 220, 28 SE6Y) DM ar. 10 SiPyd ¢ 3550 £ED) M) D
H'Eli'}& EJ'E&J':.;."'

(1) <1440 (2) <1540 (3) <1240 (4)X1560

Options:
TS ICET 2018
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1. %1
> 2
3 ® 3
4 # 4

Question Number : 109 Question Id : 9126063384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evosricio E)v:.ugge

(1) 4150 (2) 5160 (3) 615 (4) 5850

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 110 Question Id : 9126063385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

evogricdod 3»:035.3

If 43 ].'-1-.:‘{;. — 363 Gr?j. — X[m} then X =

—1"_;]4{]': 0 _:rlﬁﬁﬁ['llj = quﬂj E'II:I.'I.‘I@ X =

(1) 156 (2) 166 (3) 176 (4) 186

Options:
1. %1
o vz
3 %3
4 % 4

TS ICET 2018
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Question Number : 111 Question Id : 9126063386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do wﬂgﬂbéuﬁa &mgéa

The truth value of the conjunction 12 - 10 = 2 and 20 X 10 = 200 15

12 = 10 = 2 258000 20 X 10 = 200 e RIEIIE 000EY) E:Jé;i 0D

(1) True (2) Both True and False
B0 QadoF Py
(3) Neither True nor False (4) False
Ay Seeh. STy 56 S5
Options:
1. %1
2 ¥ 2
3 ¥ 3
4. 9 4

Question Number : 112 Question Id : 9126063387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do, wﬁmam &mgf

The statement *All primes are odd" can be proved to be False by

‘gmaﬂas'uhlm &8 RoWILL’ WD DIV WRB(0 wd 4D EO° AT

Sd00?
(1) Direct proof (2) Imdirect proof
DSE Dorde DB E Daroe
(3) Counter Example (4) Contradiction
DB T DB oo

Options:

1. %1

o %o

2 ¥z

4 % 4

Question Number : 113 Question Id : 9126063388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dot a-iga:-éam &mgﬁa

IfX=1{2, 3,4,5,66,7}. the number of subsets of X confaining 4 157
N=1{2,3.4,5,6,7} 0onadiped 4 & 80 acd X cng) adHdIdow Doay?

(1) 16 (2) 32 (3) 64 (4) 63

Options:
1. %1
o WD
3 %3

TS ICET 2018
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4 % 4

Question Number : 114 Question Id : 9126063389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Tou b W‘E_L’béoia -3“'15.‘!%5&

If f(y) = 1: ! for y # 0 and g 1s any non-zero real number. then the value of

Iflg) — f(—aq)l =

y=0 2% f(y) = ':' 280 ¢ DAD BFB(BE T Dow| wond

If (@) = f(—q)] Deno?

(1)-=d (2) 0 3) 1 (4) 2

Options:
1. % 1
o %D
3 %3
4 v 4

Question Number : 115 Question Id : 9126063390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Doy, wﬂgﬂaéu‘b 3“;53356

The range of the fimction f: R — R defined by f(x) = 2|x| is

[TR-R f(x)=2x] m doQedaips [ oD

(1) [0,e0) (2) (0, o) (3) (2, ™) (4) [2,)

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 116 Question Id : 9126063391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do W‘Sméa:b &-:ugéa

Equation of the straight line having slope 2 and Y-umercept 3 15

oren 2 Aboin Y-woddodo 5 e de HEvBar Hobddeso

(1)x-2y=5 (2) 2y—-x=35
B)y-2x=3 (4) 2x—y=35

Options:
1. % 1
o %D
3. ¥ 3

TS ICET 2018
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4 % 4

Question Number : 117 Question Id : 9126063392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Toub) aﬁ:ga:-éu:b &mgéa

The equation of the straight line passing through (2. -3) and having equal
intercepts 1s?

(2. -3) Dot roor A JErag WP LD Wwodd wotrw ol
26¢ Bar Honsone.
(1x—y-—-1=0 2) x—y+1=10

3)x+y-1=0 (4) x+ty+1=0

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 118 Question Id : 9126063393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dé k. aﬁ:gﬁaéu:b &mg{:ﬂ

tan 15° + tan 75° =

(1) 1 (Z) 2 (3) 3 (4) 4

TS ICET 2018
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Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 119 Question Id : 9126063394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
Ddaw. rdob &mgéa

sin0® + cos 30° — tan 45° + cosec 60° 4+ cot 90° =

F T 3—6 EE FAVED 37
o, 2y D (3) Dt (4 D22

(1 =
) 243 é f 243

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 120 Question Id : 9126063395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Doy, wﬂgﬂaéu‘b &mgﬁa

. 1
If @ is an acute angle, and tan @ = = then,

sect8 + tan’#

cosec2@ + cotZg

1

6 o \Fnipartand = - ®anIP

4

L)

sec’@ + tan?@

cosecl@ 4+ cot2@

6 rm 3 2
(1) & (2) o @)% (4) =

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 121 Question Id : 9126063396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do asvﬁnaéum .?.h:.:géa

The angle of elevation of the top of a pole from a pomt 100 m away from its

foot is 60°, The height of the pole (in meters) 15?7

w8 Qoo rdo Aed 100 . Brdes” el Docoy Mo & Koz BEY

&g E'eao 60" eod & oo o (Dotrges”)

(1) 200 (2) 20073 (3) 300 (4) 10073

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 122 Question Id : 9126063397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE o, asvign:.c‘.soﬁ av:ugéa

T i | 3 |
at+tb+c=6;a+b +¢c =26 = ab+bc+ca=7

(1) 5 (2) 6 (3) 7 (4) 4

Options:
1.¥1

o ® oo
3 %3
4 % 4

Question Number : 123 Question 1d : 9126063398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Doy, wﬂgﬂabuﬁ Pmmgﬁa

(3a+2b+c)(9a” + 4b” + ¢” — 6ab — 2bc — 3ca) =
(1)a’ +b* +¢* — 18abe (2) 9a° + 8b° + ¢” — 18abe

(3) 27a’ — 8b° — ¢ + 18abe (4) 27a’ + &b’ + ¢ — 18abe

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 124 Question Id : 9126063399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Toub) a'é_ﬁ:éu:b &mg{aa

If (x-13) 1s a factor of a polynomal p(x) then a factor of q(X) = p (3x+1) 18

eem0nd plX) S0 (x-13) aus srdereSo wand X p(3x+]) £ g sedrrosSo”

(1) x-1 (2) x+1 (3) xt4 (4) x-4
Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 125 Question Id : 9126063400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do, argoded Aaeg o

The value of a so that x*-2x*+3x-ax+5 is exactly divisible by (x-1) is
-2 +3x-ax+5 A0 (x-1) Do wrhody Desore a Deosd?

(1) 7 (2) 10 (3) -11 (4) 11

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 126 Question Id : 9126063401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dot w5aaéun a-a:ngﬁ—:s

4 e _ I -
=5 i 5 and S 1. then (x,y)

If

4 E 2 AP o =
a3t ya =2 13 a1 wand ey (1)) =

(1) (3.4) (2) (4. 5) (3) (5. 6) (4) (6.7)

Options:
1. %1
2 %
3. v 3
4 # 4
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Question Number : 127 Question Id : 9126063402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do wﬂgﬂaéuﬁ &mgﬁa

A zoo has some rabbits and peacocks. If the total number of them 1s 60 and

total number of their legs 15 192, then the number of rabbits 187

28 ROBODBSWTVS £0) Sodwy . 220, a7 ow. T8 Ando Do)
60, el Uy ando ﬁm&:& 192, sacned E.;rm‘.&':fa :-'ana:g?

(1) 30 (2) 40 (3) 46 (4) 36

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 128 Question 1d : 9126063403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dol wg&éuﬁa &mgéa

If the second and seventh terms of an arithmetic progression are 2 and 22

respectively. then the sum of the first 35 terms of that progression 1s?

2E @WoSICG'D Cocd . DED Doren ST 2, 22 wond W)@ & 36D
200c58) 35 DHore Jooda?

(1) 1860 (2) 1920 (3) 2240 (4) 2310

Options:

TS ICET 2018
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1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 129 Question Id : 9126063404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dol w&&éu‘b &mgéa

fh : : = ; s
The 4~ term of a geometric progression i1s the square of 1ts second rerm. If 1fs

first terim 15 =3, then 1ts ic terin 157

28 heicds’ 4 Do e Godd DG Sdo. @rd 208 Do -3 wand
oS D T B Heso?
(1) -729 (2) -243 (3) -1729 (4) -2187

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 130 Question Id : 9126063405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do Wﬁﬂaéo:b &mgﬁa

q
The coefficient of x” in the binomial expansion of (2:3 - 4—2) 15
&

1
gl

9 7
(2.1'3 + :] &L0S Do x’ rorago?

(1= (2) 0 (3) 32 @) 2

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 131 Question Id : 9126063406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do Wé&éuﬁ Eﬁ:ugéa

(1+v2) + (1-V2)" =
(1) 36 (2) 34 (3) 38 (4) 40

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 132 Question Id : 9126063407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do aﬁ'ﬁﬁbéuﬁ eﬂ-mgéa

Let |S] denote the determunant of any matrix S. If A 15 a 3x3 matnx. then
|Adj(Adj A*) | =

D 202 S 8 [S]| 036 o Jgrosedy Ardived waofod. A ws 3x3
args wond ey [Adj(Adj A*) | =

(1) |4% (2) |Al* (3) 1A% (4) |A]'

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 133 Question Id : 9126063408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Tou b w}gn:éu.ﬁ avmgﬁa

If A is a square matrix then. among the followmg. the matrix which i1s not
symmetric 157

A w8 B200R ards wond. 0o I°D¢°, Anoe A aras?

(1) A+ AT (2)A-AT (3) AAT (4) ATA

Options:
1. %1
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o Wz
3 %3
4 % 4

Question Number : 134 Question Id : 9126063409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

e, a‘éﬂ:éu:b &mgéa

Ii 12 42% 44n’t _
1My en -

i

I Ay 1 G 1
11;; (2) : (3) -1 i4) :

Options:
1. %1
o WD
3 %z
4 % 4

Question Number : 135 Question Id : 9126063410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Don. smgoded FDgS

If x =cos@(1+cosf)and y = sin@(1 + cos &) then (j_:)g -

]
-

2

; - Y =
x =cos8(1 +cosd), y=smb(l+cost) wandf =738 (.ix)g;r,

(1) 0 (

(]
o
Ted | b=t

3) 1 4) -1

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 136 Question Id : 9126063411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Don. sgoded FD0gS

In mangle ABC. length of the sides AB. BC. CA are respectively 5 ¢ 6 cin.

7 cm. then the length (in cms) of the median AD is?

Szoao ABC &° Zoeren AB. BC. CA o TFddyen 3dom 5 Do. &.. 6 De.
.. T Do. . Wiy Sogis 8 AD Fep (wo. 5. wes?)
(1) V7 (2) 247 (3) ¥5 (4) 2v5

Options:
1. %1
o o
TS ICET 2018
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3. % 3
4 % 4

Question Number : 137 Question 1d : 9126063412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, avlgh:écm Snmgﬁa

The diagonals of a thombus are 6 cm and 8§ cm. 1ts pernumeter (10 cms) 187

28 DABBE R DEgren 6 Bo. .. 820, . oD dotnfeud (Do, D. w)

(1) 48 (2) 36 (3) 32 (4) 20

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 138 Question Id : 9126063413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Dok wﬂgﬂaéuﬁ &mgéa

In the figure PT 1s tangent to the circle and PT = 12 cm. 1if PA = 8 cm and

PB = x cms then x=7

D00S" 358 PT 246 8. PT=12 Do. .. PA=8 Do. &b.. PB =X 2o. ab.

©ONS WD X=

(1) 10 (2) 12 (3) 16 (4) 18

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 139 Question Id : 9126063414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do aﬁ'ﬁﬁbéuﬁ eﬂ-mgéa

. If two vertices of a triangle are (2. 3). (-1, 4) and 1ts centroid 15 (3, 5). then the
area (in sq units) of the mangle is?

g Qzvaly) Doty -?E"m (2. 3). (=1. 4) s*r= o= Sodere (3. 5) wand e
Szoa ST ule (8. otdrdees”)

; 2r % ;
§5 2) (3} = )5

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 140 Question Id : 9126063415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddon, argodeh Fa0g S

The in-centre of the triangle formed by A(2, 3). B(-2, -5) and C(-4, 6) is

A(2. 3). B(-2. -5). C(-4. 6) 08" D6 & Szbaly) wosds Sode

(1) (-1. -2) (2) (1. -2) (3) (-1,2) (4) (1.2)
Options:
1. %1
o R
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3¢ 3
4 % 4

Question Number : 141 Question 1d : 9126063416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

3‘@@55?@ Y gﬁa

The arithmetic meanof 8. 12. 4. 16. 20. 18.22. 1415

8.12.4.16. 20, 18, 22, 14 & eoos SEIESE

(1) 14.5 (2) 13.25 (3) 13.75 (4) 1425

Options:
1. % 1
o %D
3 %3
4. 9 4

Question Number : 142 Question Id : 9126063417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

aboa:{,srg e gﬁa

The median of 68. 86. 54. 64. 46. 84. 72. 48 15

68. 86. 54. 64. 46. 84, 72. 48 © Jogride

(1) 68 (2) 66 (3) 64 (4) 58

Options:
1. %1
o vz
3 %3
4 % 4
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Question Number : 143 Question Id : 9126063418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
&nmﬁsmg &mgﬁa
If my. ms and mj respectively denote the arithmetic mean. median and mode of

a dismbution then

L8 LIRS M. [h. Nz &0 SEHT wod .::::4:,5-13;:1::: : m%m:n. ETETOWE0

VOB WD

(1) my = ms = m; (2) my = s =3(my - m;)
(3) my—m;=3(m; —nis) (4) my—m; =3(m; —m;)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 144 Question Id : 9126063419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

&nm55w§ Feso gaa

The vanance of the followmeg distribution is

08 DRI R0

kd
(%]
N
A
oy
1
o0
L=
]
—_

If: ].

1

(]
s
b
M
8
1
]
b=

10
fx):

(1) 3 (2) 4 (3) 3 (4) 6

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 145 Question Id : 9126063420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

3“:1:_:'?59?’2 .39.:1.:%-9:&

The standard deviation of any seven consecutive positive mtegers 1s

DPT DD HED BD Qroroste drarHs Joedo

(1) 2.5 (2) 2 (3) 3 (4) 3.5

Options:
1. %1
e g
3 %3
4 % 4
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Question Number : 146 Question Id : 9126063421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&nmﬁswg Fea gaa

An unbiased coin 1s tossed 6 times. The probability of getting at least one head
15
28 D A ey 6 PO JEDTW. 800 wEFD 5y, DE

RoerS(S

1 5 S | 63
(L= @ = 4

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 147 Question Id : 9126063422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&nmﬁswg .ﬁumgﬁa

An unbiased six faced dice and an unbiased coin are tossed simultaneously.
The probability for a composite number turning up on the die and a head on the
coin 157
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Options:
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3. % 3
4 ¥ 4

Question Number : 148 Question 1d : 9126063423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&am&ﬁwg ﬂﬂmgisﬂ

A number is chosen at random from the set{l,2, 3, .....,50}. The probability

for the chosen number to be a prime or cube of an integer 15”7
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Options:
1. % 1
o %D
3. v 3
4 % 4

Question Number : 149 Question Id : 9126063424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

3*::-3;}55?% &mgﬁﬂ

A bag contains 4 white, 5 red and 7 black balls. Three balls are drawn one after

the other without replacement. The probability they are all red 1s?
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Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 150 Question Id : 9126063425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

3‘0&355?? e gaa

The size of the sample space in the expertment of tossing a coin 4 tumes 1s7
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Options:
1. %1
o R
3 % 3
4 ¥ 4
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Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9126063426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Restitution

(1) restoration
(2) health

(3) organmization
(4) revenge

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 152 Question Id : 9126063427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Tacit

(1) diplomatic
(2) understood
(3) respond
(4) register

Options:
1. % 1
e e
3 %3
4 % 4
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Question Number : 153 Question Id : 9126063428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Assuage

(1) soothe
(2) assert
(3) attack
(4) let down

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 154 Question Id : 9126063429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Relinquish

(1) grve up
(2) disarm
(3) relish
(4) mnthet

Options:
1.91
o R
3 % 3
4. # 4

Question Number : 155 Question Id : 9126063430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct meaning of the word given:

Deftray

(1) give away
(2) leave out
(3) g1ve back
(4) take back

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 156 Question Id : 9126063431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Ubiquitous

(1) completely hidden
(2) shared equally
(3) peaceful
(4) present everywhere
Options:
1. %1
o ® o

3 ¥ 3
4 ¥ 4

Question Number : 157 Question Id : 9126063432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blank choosing the correct word:

It was a decision that brought him several new orders.

(1) fortutous

(2) magnanimous
(3) outrageous
(4) perverse

Options:

1. v 1

o ® 2

3 % 3

4 % 4

Question Number : 158 Question Id : 9126063433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

There 15 no of truth in the storv put out by the news channel.

(1) confidence
(2) vestige

(3) dufference
(4) opinion
Options:

1. % 1

2 2

3 %3

4. # 4

Question Number : 159 Question Id : 9126063434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill im the blank choosing the correct word:

Villagers are often to the big cities with promises of quick money.

(1) forced
(2) admutted
(3) stolen
(<) lured

Options:
1. %1
2 %z
3 % 3
4 ¥ 4
Question Number : 160 Question Id : 9126063435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill im the blank choosing the correct wond:

The student to work harder in order to score well in the
exanunation.

(1) resourced
(2) regretted
(3) failed

(4) resolved

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 161 Question Id : 9126063436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

In binary addition 1 + 1 =

(1) 2
(2) 10
(3) 01
4) 11

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 162 Question Id : 9126063437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A special computer program that pretends to do a certain thing, but in
reality it does something else such as allow a stranger to access the
computer and change it, and read its information is called:

(1) Virus
(2) Trojan Horse
(3) Surfing
(4) Spvware
Options:
1. %1
2 ¥z
3 % 3
4 % 4

Question Number : 163 Question Id : 9126063438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Chioose the correct answer:

The process of putting social media content on a webpage i1s known as

(1) embedding
(2) impressions
(3) engagement
(4) infuencer

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 164 Question Id : 9126063439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The space between characters (letters, numbers, and punctuation) and the
process of adjusting that space to avoid unsightly gaps and improve the
legibility of text 1s referred to as

(1) Kerning
(2) Font
(3) Leading
(4) Tracking
Options:
1.9 1
o 8D
3 %3
4 # 4

Question Number : 165 Question 1d : 9126063440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

A collection of mput data 1s

(1) a file

(2) a program

(3) a source hibrary
(4) an index

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 166 Question Id : 9126063441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The exchange of data usually m graphic form that i1s needed to describe a
product 15 called

(1) Electrome Data Exchange
(2) Bar Code
(3) Product Data Exchange
(4) Electronic Forms

Options:

1. %1

o %2

3. v 3

4 % 4

Question Number : 167 Question Id : 9126063442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

An assembly of people meeting regularly to advise on, discuss, or
organise something 1s called

(1) council
(2) meeting
(3) gathering
(4) commuttee

Options:
1.v¥1

o ® oo
T %3
4 % 4

Question Number : 168 Question Id : 9126063443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A messenger who carries goods or documents 1s called

(1) postman
(2) attendant
(3) courier

(4) peon

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 169 Question Id : 9126063444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Choose the correct answer:

A balance sheet 15 a document showing

(1) Profit or loss for a period of the company

(2) Assets and habilities of the company

(3) Flow of cash and balance of cash position

(4) Balance of raw materials and finished goods inventory

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 170 Question Id : 9126063445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Sale of goods to the public 1 small quantities 1s called

(1) wholesale
(2) marketable
(3) accessory
(4) retail

Options:
1. %1
o %2
3 %3
4 ¥ 4
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Question Number : 171 Question Id : 9126063446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A: "Youreally should be firm with him or there will be trouble later.”
B: “I'm afraid to do so!™

‘A’ implies that “B™" 15

(1) tactless

(2) firm

(3) weak

(4) courageous

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 172 Question Id : 9126063447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A: "How much of yvour time do vou spend at work?”
B: “T leave for work at 8 pm and get off work at 6 am”

‘B’ implies that

(1) he works from 6 am. to 8 pm.
(2) he works from 8 pm. to 6 am.
(3) he works throughout the day time

(4) he leaves home for work at 6 am.
Options:
1. %1
el
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3. % 3
4 % 4

Question Number : 173 Question 1d : 9126063448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answern:

A: “When should I come round to yvour place”
B: “This time I will come round to your place.’

‘B’ implies that “A°

(1) 1s busy

(2) never invites him to his place
(3) 1s different

(4) 1s unwelcome

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 174 Question Id : 9126063449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answen:

A: “How did Mohan fare in his job?”
B: “Well. he managed to hang on to his job.”

In this conversation ‘B’ states that Mohan

(1) 1s strugghng to keep his job
(2) kept his job
(3) 1s doing extremely well
(4) 15 hikely to get fired
Options:
1. %1
i
3 %3
4 % 4

Question Number : 175 Question Id : 9126063450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

I wouldn’t hike to go through that again.

The underlined phrase means

(1) experience
(2) travel

(3) subject
(4) attack

Options:
1.v1
o ® oo
3 %3
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4 % 4

Question Number : 176 Question Id : 9126063451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answen:

Change the following mto passive voice:

Enter 1t in the register.

(1) Use the register.

(2) It should be entered 1n the register.
(3) Let 1t be entered in the register.
(4) The register 1s required to enter it.

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 177 Question Id : 9126063452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answen:

A: "I need notdo1t.”
B: “Of course you have to do 1t! It’s your project after all.”

‘B” implies that “A°

(1) has no option
(2) 1s lazy

(3) 1s unintelligent
(4) 1s incompetent

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 178 Question Id : 9126063453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Banks help people wanting to busmess.

(1) set out
(2) setup
(3) set aside
(4) put In

Options:

1. %1

e .

3 %3

4 # 4
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Question Number : 179 Question 1d : 9126063454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

If vou don’t he will take your job from vou.

(1) look forward
(2) look after
(3) look back
(4) look out

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 180 Question Id : 9126063455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition;

There are many social orgamsations that are m the uphfiment of
the poor and needy.

(1) raised
(2) reserved
(3) involved
(4) retained

Options:

1. %1

o %D

3. v 3

4. # 4

Question Number : 181 Question Id : 9126063456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

Bv picking a quarrel with the organisers they all chances of

going back to that event,

(1) elimmnated
(2) exterminated
(3) exploited
(4) elaborated

Options:
1.9 1

2 %z
3 % 3
4 % 4
Question Number : 182 Question Id : 9126063457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

[ am too to go shopping again as my feet are aching.

(1) relieved
(2) satisfied
(3) bored
(4) exhausted
Options:
1. %1
o ® D

3 %3
4. 9 4

Question Number : 183 Question 1d : 9126063458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

It vou want to work 1n the sales division you need to have a flair

selling.

(1)
(2) of
(3) to
(4) for

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 184 Question Id : 9126063459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

I must protest this course of action.
(1) after
(2) at

(3) across

(4) 1nto

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 185 Question Id : 9126063460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill im the blanks with the slppt'uprinle piu'a_w ! verh / prapmirinn:

[ am quite aware his merits.

(1) of
(2) tor
(3) upon
(4) by

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Id : 9126063461 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Juestion Label @ Comprehension
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Read the [ollowing passage and answer questions 36-40:

Everyone except the accurate thinker has an overabundance of opmions,
and usually these are without great value. Many of them can also be dangerous
and destructive when used m compunciion with personal inttiative because if they
are based upon prejudice. imtelerance, 1gnorance or hearsay evidence, they may
do a great deal of harm. No opinion can be considered safe unless it 1s based
upon known [acts, and no one should express an opimon on anv subject without
assurance that 1t 15 [ounded on [acts, or sound hypothesis of [acts. Free advice
volunteered by friends and acquaintances wsuallv is not worthv of consideration.
The accurate thinker, therefore, never acts upon such advice without giving it
the closest scrutiny. Accurate thmkers permit no one to do their thinking for
them. They obtamn facts, information and counsel from others, but they retain
the privilege of accepting or rejecting such advice in whole, or in part. Accurate
thinkers do not form opmnions based upon newspaper reports, for they cannot be
sure that such mformation is always the result of accurate thinking,

Sub questions

Question Number : 186 Question Id : 9126063462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When can opinions become dangerous?

(1) when they are ill-founded
(2) when they are discussed
(3) when they are uttered

(4) when they become popular

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 187 Question Id : 9126063463 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who 1s an “accurate thinker™?

(1) One who 1s practical

(2) One who 1s alert

(3) One who bases his opimons on facts
(4) One who 1s intelhgent

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 188 Question Id : 9126063464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How should ‘“free advice™ be treated?

(1) seriously
(2) 1importantly
(3) carefully
(4) hightly

Options:

1. %1

2 ® 2

3. % 3
4 ¥ 4

Question Number : 189 Question 1d : 9126063465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What does “closest scrutiny™ mean”?

(1) to read properly

(2) to examine thoroughly
(3) to write well

(4) to look well

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 190 Question Id : 9126063466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How do ‘accurate thinkers’ become accurate?

(1) They depend on newspapers.
(2) They sift through the information received by them.
(3) Thev accept the thinking of others.
(4) They depend on their friends.
Options:
1. %1
2. ¥2

3 ¥ 3
4 % 4

Question Id : 9126063467 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Cesticn Label | Comprehension
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Kead the following passage and answer questions 41-45:

For centuries skv watchers have reported secing mysterious tlashes of
light on the surface of the Moon. Modemn astronomers have observed the same
phenomenon, but no one has been able to satistactonily explam how or why the
Moon sporadically sparks. However, researchers now believe they have found
the cause. Rescarchers have examuned the chemical content of Moon rocks
retrieved by astronauts durmmg the Apollo mussions and have found that they
contain volatile gases such as helium, hvdrogen and argon. The researchers
suggest that stray electrons, freed when the rock eracks. may 1gnite these gases.
Indeed lunar rock samples when fractured 1n the lab. throw oft sparks. What
causes these rocks o crack on the lunar surface? The [lashes are most olten

seen at the borders between sunhight and shade on the Moon, where the surface
is being either intensely heated or cooled. A sudden change in temperature may
cause thermal cracking. Another possibility 1s that meteors may stnke the rocks
and cause them to crack. Finally, lunar rocks may be fractured by seismic

events — n other words. by tiny moonquakes.
Sub questions

Question Number : 191 Question Id : 9126063468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For how long have people been aware of the mysterious lights on the
Moon?

(1) for the last ten vears
(2) since the Apollo Moon missions
(3) for hundreds of years
(4) for thousands of years
Options:
1. %1
2 ® 2
3. ¥ 3
4 % 4

Question Number : 192 Question Id : 9126063469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What does the word *sporadically” mean?

(1) reputedly
(2) occasionally
(3) mysteriously
(4) constantly

Options:

1. %1

i 4

3 %3

4 # 4

Question Number : 193 Question Id : 9126063470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following supports the theorv that Moon rocks give off
sparks when thev crack?

(1) atelescopic study of the Moon

(2) experniments conducted by astronauts
(3) observations by ancient sky-watchers
(4) an analysis of rocks from the Moon

Options:
1. % 1
o %D
3 %z
4. 9 4

Question Number : 194 Question Id : 9126063471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What causes thermal cracking?

(1) earth quakes

(2) sudden change 1n temperature
(3) argon gas

(4) pressure of tree roots

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 195 Question Id : 9126063472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What does the word ‘volatile’ refer to?

(1) gentle
(2) explosive
(3) soft

(4) Light

Options:
1. % 1
o vz
3 %3
4 % 4

Question Id : 9126063473 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label | Comprehension
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Read the following passage and answer guestions 46-5():

I had started on life of ease and comfort. but the experiment was short-
lived. Although 1 had furmished the house with care, vet it failed to have any
hold on me. So no sooner had I launched forth on that life, than I began to cut
down expenses. The washer man’s bill was heavy, and as he was, besides. by
no means noted for his punctuality, even two or three dozen shirts and collars
proved insufficient for me. Collars had to be changed daily and shirts, if not
daily, at least every alternate day. This meant a double expense, which appeared
to me unnecessary, So [ equipped myself with a washing outfit to save it. |
bought a book on washing, smdied the art and taught it also to my wife. This no
doubt added to mv work. but 1ts novelty made it a pleasure. 1 shall never forget
the hirst collar that I washed myself. I had used more starch than necessary, the
iron had not been made hot enough, and for fear of burming the collar, I had not
pressed 1t sufficiently, The result was that, though the collar was fairly stiff, the
supertluous starch continually dropped oft it. T went to court with the collar on,
thus inviting the ridicule of brother barristers, but even in those days I could be
impervious o ricicule.

Sub questions

Question Number : 196 Question Id : 9126063474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What evidence do we have of the thrifty nature of the writer?

(1) He wore the same shirt for two days.

(2) He asked his wite to 1ron his clothes.

(3) He gave the washer man only a few clothes.
(4) He decided to reduce his expenses.

Options:
1. %1
2 %
3 % 3
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4. v 4

Question Number : 197 Question Id : 9126063475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What made the task of the writer appear less tedious?

(1) It was a new expernence.

(2) His wife also helped him.

(3) He emploved a person to assist him.
(4) He decided not to do 1t every dav.

Options:
1.v1

2 ® 3
3 %3
4 % 4
Question Number : 198 Question Id : 9126063476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which one of the following was NOT one of the mistakes made by the
writer in the process?

(1) He put too much starch.

(2) He bumt the collar of the shart.
(3) He did not heat the iron enough.
(4) He did not wash off the starch.
Options:

1. %1

2 V2

3 %3

4 % 4

Question Number : 199 Question Id : 9126063477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What was the profession of the writer?

(1) He was a journalist.
(2) He was a washer man.
(3) He was a contractor.
(4) He was a lawver.

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 200 Question Id : 9126063478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the writer’s reaction to the mockery of his colleagues?

(1) He became angrv and shouted at them.
(2) He cnticised them 1n return.

(3) He did not respond to them.

(4) He laughed at their foohshness.

Options:
1. % 1
o %D
3. v 3
4 # 4
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